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( OLD COURSE)
QP Code : 3732

N.B. ¢ (1) Questisn No. 1 is compulsory.
(2) Solve uny four guestions out of remaining six questions.
(3) Ascume suitable datfa if necessary.

1. (a} Drawand explain On-load Tap Change
(b} Draw and expiain scrgue-slip churacterxstxcs of three phase induction motor.

(cj Explair the construction of three phase induction metor.
{d) Explain canacitor start single phase indution motor.

2. {aj Explain op2n delz cornection of transformer in detail.

(o) A 3 phase, 6 pole, 500 v star connected I. M. draws the line ~urrent of 20
amp. at .866 ‘agging p.f. The stator resistance per phase = (.75 Q. The rotor
exerts ¢ torjee of 120 M-m. Running at 960 rpm. The usefu! mmechanical power
obtained is 12 kw. Caloulate -

(i: Pfficiency o motor
(1i: Slip
(i fdaior iron boss
3. (a) Explair coxeturctian & working of shaded nole and split phage cingle phase
induction rotor.
(b) Esplain dauble fieid revolving theory ~f single phase mductlon motor.

4. (a) Explain Excitation phenomenon i case of transformer.
(5; Draw zad cxplain scoti connection of transformer.

(2} Explair diifercnt specc control methods of three phase squirrel cage induction

maotor.

(0; Two Tlree phase transtormers which have the same turns ratio are connected
in para:lel and suppiv a total Joad -of 800 kw at 0.8 power factor lagging.
Their ratings #re as follows :

Transforme: Rating P.U. resistance  P.U. resistance
A &0 KVA 0.0t 0.05
3 403 KVA 0.02 ' 0.04

Determine the power cutput and power factor of each transformer
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Explain various starting methods of three phase induction motor.
Explain the construction & working of High Torque Induction Motor.

yplair Ne load tesf and B cked mmr test ofthree Dhase mduct.m motor

4CCros its staruonneclﬁd rotor 1ermmais The rotor resisiance and >tanast1i

reactance per whase arc 0.2Q and 10 respectively.

o
1) Calculate the »otor speed when the rotor is drawing a current of 10 A
rticalar fcad.

a U
(ii} T'ndthe speed at which the torque is maximum & the corrcsponding
vaiue of rotor input.
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